' f I I Zawarto$¢ opakowania/Package contents:

. Uchwyt TV oraz TV bracket and
RED EAGLE ® _ A) Sruba samogwintujaca Mé x3 A) Mé Self-tap screw x3
B) Kotwa plastikowa M6 x3 B) M6 Plastic anchor x3
i C) Podkfadka M6 x11 ) M6 washer x11
D) Sruba M4x12 x4 D) M4x12 screw x4
" " E) Sruba M5x12 x4 E) M5x12 screw x4
FLEXI GRANDE 13"~55 oo v
G) Sruba M8x15 x4 G) M8x15 screw x4

e H) Sruba z nakretka x8 H) Screw with nut x8

nstrukcja montazu uchwytu $ciennego do telewizoréw o przekatnej ekranu 13"-55" i maksymalnym obciazeniu 35kg:
Instruk t hwyt go do tel przek j 18 ymalny bcig 35k

D WN -

w

. Uzyj ptytky éciennej uchwytu jako szablonu

. Wywier¢ trzy otwory w Scianie betonowej lub $cianie z twardego drewna.

. Zamocuj plastikowe kotki do betonu w otworach.Umies¢ panel écienny na $cianie i wkrec wkrety do drewna w plastikowe kotki, uzywajac metalowych podktadek.

. Zainstaluj listwe motazowa z tytu telewizora. Jezeli twéj TV ma wiecej niz 37" dokrec elementy rozszerzajace. Wkrec cztery Sruby w otwory z tytu telewizora, Sruby powinny
by¢ dobrane zgodnie z rozmiarem otworu na $rube tylnej obudownie TV.

. Jezeli twoj TV jest wiekszy niz 43" popros druga osobe do pomocy. Przymocuj panel telewizora do uchwytu. Wyreguluj kat telewizora wedtug preferenciji i dokre¢ sruby
blokujace. Zatdz elemety masskujace sruby po skoriczonej instalacji.

Installation instructions for a wall mount for TVs with a screen diagonal of 13"-55" and a maximum load of 35kg:

HWON -

. Use the wall bracket plate as a template

. Drill three holes in the concrete wall or hardwood wall.

. Fix the plastic concrete dowels in the holes.Place the wall panel on the wall and screw the wood screws into the plastic dowels, using metal washers.

. Install the power strip on the back of the TV. If your TV is more than 37" tighten the extension pieces. Screw the four screws into the holes on the back of the TV, the screws should
be sized according to the screw hole of the TV's back case.

. If your TV is larger than 43" ask another person to help. Attach the TV panel to the end of the bracket. Adjust the angle of the TV according to your preference and tighten the
locking screws. Replace the bolt's mass-control elements after the installation is complete.

ro » . " ) fo 5 ®10mmj

Ko,

13"-36"TV

|

g
b

PRODUCENT:

GOLDEX S.C

UL. Stoneczna 6/ Wotczkowo

72-003 Dobra
GOILDEX | ;5
Email : info@goldex.pl

Tel.: +48 504 410410

Thank you, Denke, Deiekujemy

SE[P@kdT

RED EAGLE"




